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SECOND SEMESTER
CIVIL ENGINEERING
HS 21 — TECHNICAL ENGLISH — II
(Common to all Branches)
(REGULATIONS 2008)

Time : Three hours Maximum : 100 marks

Answer ALL questions.

PART A — (10 x 2 = 20 marks)

1. Match the words in Column A with their meanings in
Column B : (4x%=2)
A B
{a) Marginal [63} Seeing as a whole
{b) Holistic (1) large scale destruction
{c) Retardant (i)  insignificant
(@) Decimation (iv)  resistant
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Add prefixes to the following words in accordance with the
meanings given against each : Mx 1=92)

(@) —————— conductivity : property having zero
electrical resistance

(b) ————————— venous: in or into veins

(¢) ——————— practical: not practical

d) ————— humanize: take away human
qualities.

Rewrite the given expressions as shown in the example :
“x$=2

Example : The pipe is 3 feet long

Ans: a 3-foot pipe

(a) acuring that lasts for 10 minutes

(b} a seminar lasting for three days

(€) a DCsupply of 240 volts

(@) atank with a capacity of 2000 litres

Two words can be formed from each of the verbs given
below. Complete the table by following the given

example : “Uxi=2
Verb Noun 1 Noun 2
Example : Pollute  Pollution Pollutant

(a) Explode [ - —
() Disinfect
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(d) React —-— —

Fill in the blanks with appropriate prepositions :
@x1=2)

A common confusion oceurs

personal and
personal
relationships, there are shared interests and often mutual
dependence and a fairly high degree of openness and
trust. These relationships grow out basic
psychological needs. We cannot apply the same yardstick

work relationships that we apply
personal ones. The nature
the two is different. One needs
nurture these ————

professional  relationships.

form and
being successful.

Write an extended for the following :
(a) Modem

(b} Microprocessor.

Combine the following sentences using words to show
causal relation :

(a) Solar energy can be used to supplement fossil fuels.
Fossil fuels can be saved for peak periods of demand.

(b) The information was easily stolen. There was no
security check in the system.

Insert the suitable adverbs in the blanks : x5 =2
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11.

(a) The fee structure 18 e annNouten L
the govemment.

() Your answer1s e ight.

(© [bave done the problem as it was ————
easy.

@ This essay i ————— written.

Fill in the blanks with appropriate tense form: (4x 3 =2)

VAT system at the state leve) ——— (be) a
better system than what we o (have
before April 1, 2005. The white papet rightly ——
(point out) VAT ———— " (be) indeed a move

towards more efficiency, equal competition and fairness in
the taxation system.

PARTB—(5x16= 80 marks)

(&) Read the following text and answer the questions /
exercises given below : 1)

Chatting - refers to conversing (talking) friendly
informal manner with a friend, & neighbour or a
relative on matters of mutual interest. In Internet
chatting, however, you may chat with strangers.
with people you didn't know before. n this, you get
connected to people of all sorts, of all ages, of either
sex, of all beliefs and so on. In fact, you go on the
Internet to look for people to chat even without
knowing whether or not you can start & relationship
with them.

Several wonderful things have happened and our
lifestyles have changed since the computer entered

;




[image: image5.png]our lives. The computer performs a lot of
unbelievable things for us. The best thing that has
happened to us yet is the arrival of Internet in our
lives. The Internet provides us with ever so many
excellent facilities. Like the World Wide Web,
E-mail, File Transfer Protocol.

But it has also provided with its users with openings
for a few activities which are proving to be
unhealthy. One is the opening for chatting. We, by
nature and instinct, require company. We like to
know about people, places. habits, cultures. We like
to pour out our trouble to others. We like to share
our joys with others. All these are natural activities,
yes. But if we spent most of our time looking for
people and talking to them, forgetting everything
and everybody, this would amount to addiction. This
is exactly what's happening to all those who are
chatting on the Internet.

Internet chatters forget their duties to their
families, their responsibilities to their Jjobs. They sit
at the computer for hours together ignoring their
family. Scores of school and college students of hoth
sexes chat with several groups simultaneously
through as many windows. They ignore their
studies; they don’t bother about their grades coming
down to single digits. They chat so late into the
night that they have no strength left in them to do
anything else. Even employees use their terminals
during their working hours to indulge in chatting or
to play games.

The addiction to chatting results from excessive use
of the Internet, being online for much longer than
originally planned and thinking about chatting and
the people. Because of this addiction, because of
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prolonged stay online job, careers and educational
programmes are seriously compromised and there is
constant rupture in family relations. There is only
unhappiness all around. A few suggestions to this
addiction are chat if you must but within limits,
beware of how it's destroying you and everything
around you and take help from near and dear, listen
to them and spend time with them.

Answer these questions in a sentence or two :

() In how many ways in Internet chatting
different from conversing?

(iiy What's happening to all those who are chatting
on the Internet?

(iii) What do the chatter forget when he
overindulges in Internet chatting?

(iv) Who can help these addicts?

Read the following text and answer the questions /
exercises given below : )

Xavier was born in a very poor family. His parents
had neither the means nor the will to give proper
education to Xavier. It looked as if he had been
destined to go without any education. Not only that,
The circumstances in which he was being brought
up seemed to provide a congenial atmosphere for
turning him into an unworthy, unwanted citizen. It
was a licentious atmosphere where things like
honesty, morality and integrity seemed to have little
meaning and value. It was an atmosphere where
men were bound by no norms of social behaviour. To
be fair to them, it could be said that the fight against
starvation and social neglect took all their time and
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luxuries of decency and integrity.

The parents of Xavier found themselves in the thick
of this atmosphere. Naturally, they were little
inclined to see their son climb the ladder of social
advancement. All their time and energy they
expended on earning the bread for themselves and
for their only son. More importantly, things like
culturedness and moral uprightness were not only a
Juxury but also meaningless and irrelevant. They
were more concerned with feeding their stomachs
than with feeding their minds or hearts. Needless to
say, the question of how to live never entered into
their lives.

But the history of mankind does not go without
examples of men who rise above and conquer the
personal and social obstacles. There are men like
Karl Marx and Abraham Lincoln who were born in
and lived through the most unenvious
fircumstances, but by sheer determination rose to
become the hieroes in human history.

Though our Xavier was not destined to such an
eminence, he decided not to remain the inheritor of
his parents, of his class. He did not want to reform
his society or family, but he decided to shaped his
own destiny and reach out to a meaningful, principle
life. But this was not a selfish motive. By
overcoming the tyranny of the environment himself,
he wanted to become an example for men and
women of his class, which they could see and follow.

Say whether the following statements are ‘True’ or
‘False’ :

() Xavier finally turned to a social refo:




[image: image8.png]©

(i) The fellowmen of Xavier were by nature
dishonest people.

(iii) Abraham Lincoln was a self-made man.

(iv) Xavier’s parents were too busy to think of their
social advancement.

Read the following text and answer the questions /
exercises given below : “)

Anaesthetics are drugs causing unconsciousness or
insensibility to pain. Their use in modern medicine
permits painless surgery during the simplest
operation of a few minutes’ duration, to the most
delicate operation lasting many hours.

Anaesthetics are divided into two broad groups.
General anaesthetics and local anaesthetics.
General anaesthetics can cause total
unconsciousness in the patient by temporarily
altering the normal activities of the central nervous
system. Local anaesthetics temporarily deaden the
sensation on a particular or local area of the body.

General anaesthetics are usunally administered to
the patient in one of the two ways-inhalation or
intravenous injections. In the inhalation method, the
patient breathes a gas or vapour into his lungs. In
the intravenous injection, the drug is put directly
into a vein.

Two drugs often used as general anaesthetics in
operations of short duration are the liquid
vinethene, which causes rapid anaesthesia, and
trilene, which produces a light, pain-killing effect.
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Trilene is usually combined with nitrous oxide and
oxygen.

Not all surgery requires that the patient be
unconscious. For minor operations, only restricted or
local area of the body need be made insensible to
pain; thus a local anaesthetic is administered. The
local anaesthetic prevents sensations of pain from
travelling through the nerves in the drugged area.

Local anaesthesia can be produced through three
sites of injection. Infiltration is the injection of the
drug into the tissues. Block anaesthesia is produced
by the injection of the drug around the main nerves
leading to the operation area. These main nerves are
blocked from transmitting sensory impulses. Spinal
anaesthesia results from the injection of the drug
into the space surrounding the spinal cord.

Fill in the blanks with appropriate word or phrase :
(1)  Anaesthetics are drugs

(ii) The sensation on a particular area of the body
is deadened by

(iil) ————————— causes rapid anaesthesia.

(iv) The wmain nerves are blocked from
transmitting sensory impulses in

Read the following text and answer the questions /
exercises given below : @

The use of machines has made the world a small

place. Distance has been conquered by modern
0 (o0 )




[image: image10.png]means of transport. We can travel over the oceans of
the world in a few hours. One of the most
remarkable features of modern civilization is the use
of the electronic media of communication, The world
has been rightly called an electronic village.

When we think of these features of modern
civilization, we are tempted to ask ourselves
whether they have made our life better in quality.
What benefits has machine civilization bestowed on
us?

One of the important benefits of machine civilization
is that our standard of life has improved. There is
much more variety in our lives. We have a wide
choice of everything from wrist watcher to ice
creams, from fountain pens to flashlights. Food from
any part of the world can be obtained in any season
of the year. On our table we can have fruit from the
Mediterranean, wine from France and cheese from
Australia. Mass production of goods leads to
abundance everywhere. Articles can be produced in
hundreds or thousands in modern automated
factories. Bicycles, radios and other articles that add
to comfort and variety are variables to anyone who
wants them. Mass production helps to keep their
prices within the reach of the common man.

The twentieth century is the age of machines. From
the time the Industrial Revolution began in Europe
man’s life has been changing in many ways. At first
the change was slow. But in the second half of the
nineteenth century there was an increase in the rate
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[image: image11.png]of mechanization and as a result life began to
change more quickly. During the last fifty years,
machines of all kinds have become part of our daily
life and have transformed it in the most incredible

manner.

Choose the response which exactly reflects the
meaning of the text :

i The world has been converted into an
electronic village by.

(1) The use of machines

(2) Means of transport

(3) The electronic media

(4) The combined effect of all the above.

(i) As per the passage given above, the machines
have

(1) Contributed least to human growth
(2) Not changed our life style

(3) Improved the quality of life

(4) Resulted in one sided growth

(i) We get goods in abundance everywhere
because

(1) Modern mode of transport is fast

(2) The factories are automated

11




[image: image12.png]12,

(a)

®)

(3) Thereis yariety in production
(4) Because of mass production

(iv) The beginning of the mechanized world can be
traced back to

(1) The industrial revolution

(2 The second half of the 19t century
(3) The last fifty years

(4) The twentieth century

(i) Youare the purchase officer of a firm. Place an
order with a local dealer for the supply of the
following :

(1) Tube light bulbs

(2) Electric switches

3) Copper wire.

Asgsume all necessary data such as from and to
addresses, date, salutation etc. @

(i) Your company had brought certain goods from
a dealer. But you find variation in the price
that was quoted in the quotation and the final
bill sent to you. Write a letter seeking
clarification regarding this discrepancy. 8)

Or
The following is an advertisement in “The Dawn’
dated 15 October. Write a letter of job application
for the post of Chief Project Manager (India) to the
Managing Director of Skyline (onsultants, 4/6 Bank
Road, Kochi — 676 108. In addition to your

12
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(a)

®)

engineering degree, you must have an MBA degree

and

work experience in a multinational

environment. Your CV must demonstrate proof of

managing business operations in big companies in

India.

@

(i3

(1)

Gi)

(1)

(i)

Write a set of 8 recommendations to be

followed in a welding workshop. (8)

Prepare a checklist for embarking on a

mountaineering expedition. ®)
Or

Describe the process of working of generators
in about 200 words. (8)

Write a paragraph in about 200 words to
promote tourism in India, after analysing the
problems involved. (8)

Write a report on the visit to a local textile
industry by a group of students of your class.
Include all necessary details such as purpose of
visit, industry visited, observations made and
your conclusion. The same is to be submitted to
the training officer of your institution. (8)

You have begp appointed as Chief Officer,
Flood relief operations in Tirunelveli. Prepare
a report on the relief work in the Tirunelveli
district to be handed over to the District
Collector. ®)
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(b)

(@)

®)

Or

(1) Discuss the various elements of a formal
report. 8)

(ii) Write brief notes on the following : 8)
(1) Significance of reports
(2) Informational and analytical reports
(3)  Routine and special reports

(1) Oral and written reports.

Do you think that the introduction of computers in
industries will lead to unemployment? Write an
essay expressing your ideas in about 500 words. (16)

Or

Write an essay in two paragraphs not exceeding 500
words on the different ways in which economic
growth can help to reduce poverty in India. {16)
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